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FHAERT 86 97 99 196 [ F1 FHHT 258 207 193 400 [#KHT— T H 373 305 230 535 K JEmT 280 290 316 606
ARYHT 189 169 191 360| (BTN 12,598 11,397 12,203 23, 600|&kAT =T H 179 157 116 273 | K HERT 755 881 940 1,821
JEHT 452 370 451 821 FERT=TH 142 149 152 301  KIEHX 3,891 4,291 4,470, 8,761
TR 775 737 763 1,500k EHT 243 238 242 480|HKATIY T H 63 39 41 80
b BHT 415 414 419 833| IR MT 3,905/ 3,792 3,905 7,697 N4RHHX 10,386 9,878 9,815 19, 693 |F] A HEHT 401 473 462 935
T 251 216 211 427 |Figfar BT 185 175 207 382 BT 272 332 369 701
)T 139 129 133 262/’ FHHT 487 453 451 904 | 4 FH Fh AT 368 393 428 821 | lifT—TH 474 448 481 929
KAGHT 609 523 516 1, 039|JLAHT 3,811 3,791 3,948 7, 739|HfRNT 1,276] 1,461 1,438) 2,899 LT — T H 230 216 249 465
BT 12 8 9 17[ ELRHET 3,770 3,729| 3,775 7,504 AT 1,733 1,666 1,810 3, 476|H/NEHET 586 610 622 1,232
E= 201 103 84 103 187 &R 602 576 598 1, 174| H @lT 1,191 1,355 1,267 2, 622|407 1,665 1,868/ 2,011 3,879
Fn T 224 204 218 422|5 BT 1, 400 1,451 1,563 3,014 HrEBHix 4, 568 4,875 4,943 9,818| M /\IEHLX 3,628 3,947 4,194 8, 141
Aeimmy 115 77 84 161 RKAHHT 157 143 162 305
JUTREHT 181 188 217 405 H SEHT 340 392 425 817|FH-2F T 3,061 2,917 3,207 6, 124 % sy 450 456 494 950
LI 177 167 135 302 ERAT—TH 385 378 390 768| K J\AHT 1,306 1,286 1,221  2,507|3EikHT 317 341 346 687
AT 62 58 58 116 HRIT =T H 532 505 472 977/ N\ AKHT 1,371 1,439) 1,459 2, 898|{5%r HIHT 721 732 737 1,469
TFIHET—T H 147 139 139 278| R ERIT =T H 522 521 545 1, 066 EA =T 503 554 583 1, 137| 3 rp BLRT 242 300 302 602
TRIEET =T H 116 127 122 249|HERATIY T H 350 338 416 754|BERT— T H 335 216 308 524 (%% Ry 1,208 1,298/ 1,386 2,684
TRAHET =T H 130 121 110 231 BHRHX 16,689 16,482 17,099| 33,581 |MHEIT =T H 34 29 28 57 | BT 773 886 913 1,799
TFEREETIY T H 140 135 152 287 R =TH 68 28 50 78| E X 3,711 4,013 4,178 8,191
TRIHETE T H 61 49 12 61|41 T 3,803 3,749| 3,907  7,656|[EATIN T H 129 123 112 235
A FrHT 425 393 430 823 i — T H 281 312 351 663|M=ITPE—T H 55 41 31 T2 AL B AT 5,889 6,066 6,254 12,320
FI4RAT 22 18 17 35| [T T H 577 563 626 1, 189| R =HTPE — T H 125 109 95 204 (= JELRT 198 236 262 498
Al EAT 25 16 22 38| TR =T H 892 844 903 1, 747 [ FLHT 2,014 2,003 2,117 4,120| AE S HIX 6, 087 6, 302 6,516/ 12,818
xig 178 164 190 3543 AT 1,563 1,502 1,626 3,128 HJIIHEX 9,001 8,745 9,211 17,956
AT 217 168 185 353| FebfHAT 1, 463 1,381 1,465 2,846 PN/ 397 381 431 812
ENINTE 508 468 512 980 | 52 17 T 180 166 182 348 |4 F-IR{mT 463 386 521 9073t H BT 559 624 640 1,264
YRR 23 16 19 35|\ FARET—T H 485 476 453 929 | Fl HT 2,403 2,281 2, 285 4, 566 j BT 684 775 734 1,509
T 62 51 58 109\ FARET =T H 380 341 390 731 TR T 244 292 306 598 | 74 5 H] 165 163 155 318
AT 37 38 40 T8 \NTFRET=T H 508 503 525 1, 028| 5 T 940 888 883 1, 771 |3k J5HT 652 722 755 1,477
=1 153 134 158 292\ TRHETIN T H 407 404 459 863 | HRERHT 561 619 630 1, 249|7¢ f 44 | 565 644 671 1,315
FERDRT 629 548 601 1,149 Fr[ X 10,539 10,241 10,887 21, 128|HTE=HT 376 376 417 ICEIES =101 388 388 382 770
R R T 26 31 25 56 AL 2,471 2, 654 2,748 5,402 HU7 R HIX 3,410 3, 697 3, 768 7,465
# LT 474 449 491 940 | k- p=BFHy 2,538/ 2,500 2,670 5, 170[#5 AT 169 206 207 413
FH T 365 273 337 610| k- rp T 3,798 3,726 3,683 7,409 J\iEHh[X 7,627 7,702 7,997 15,699| k-iiEHT 291 352 369 721
i 22 29 24 53| AL HERT 355 334 404 738 T T 228 225 266 491
RS RLET 198 162 170 332 SHT 795 760 776) 1,536 kST 1,306/ 1,348 1,349 2,697| FiEhT 440 489 513 1,002
T 147 140 134 274 By FERT 43 42 45 87|ALALRHET 467 424 494 918 |1 sk F=MT 173 205 216 421
AT 405 355 406 761 [Hr e BEmT 403 414 429 843 T [ My 1,927 1,985 2,071 4, 056/ 1 T 349 423 424 847
PR 18 16 18 34[ BT 1,558 1,855 1,859 3, 714 i W] 847 847 942 1, 789 | P s T 429 493 467 960
A AR HT 1, 560 1,519 1,624 3, 143[ F s RT 1,206 1,228 1, 260 2,488 [ i X 4, 547 4, 604 4, 856 9, 460 [ /\ i JFTAT 410 459 504 963
R T 164 149 162 311z 1, 852 1, 967 1,981 3,948 i) || 11X 2,320] 2,646 2,759 5,405
gzl 134 120 148 268(HJEET— T H 588 591 594 1, 185|hHT 519 570 588 1,158
[l 161 138 148 286|PEHT T H 1,301 1,110 1,333 2, 443 |45 Himy 491 566 595 1, 161| AR A ok 109 113 121 234
B oThT 216 203 229 432|PEET =T H 619 627 666 1, 293|At8r i |y 180 207 214 421 [ APAIET )1 313 294 324 618
JEATEAT 103 76 51 127 (P JEHTIY T H 705 644 697 1, 34147 /78T 140 156 175 331| A BHINT HE FH 380 383 368 751
EN 152 105 151 256 | WHERT 1,026 1,004 1,023 2, 027|111 H] 1,224 1,322 1,383 2, T05| BN =/ 1 439 451 433 884
N 348 355 399 754 (Fn H 2 T 659 620 554 1, 174|FI8T I AT 393 436 486 922| Fr IR A 7E 191 177 182 359
L 209 167 197 364| =B HIX 17,446| 17,422 17,974| 35, 396 | %[ MT 431 474 468 942|  APIHIX 1,432 1,418 1,428/ 2,846
1L FRET 106 87 96 183 Fldgmy 284 342 339 681
EL) 87 69 82 151 b/ Eymy 799 837 897 1,734 RIFHLX 3,662 4,073 4,248 8, 321|FHRHT AR 1,925 2,045 2,201 4,246
PU 7 T 30 30 32 62| /N 482 554 578 1,132 BT FIAR R 1,074 1,326 1,310/ 2,636
GaeLlE 33 28 31 59| LA RT 3,021 2,847 2,695  5,542| FAEAT 1,339 1,376) 1,414 2, 790|EARHT 4T 86 92 103 195
FEELIT 98 89 72 161 T/ ESHT 2,329 2,174 2,157 4, 331|4EIRFHT 730 875 913 1, 788|FEARMT 2 1,534 1,659 1,699 3, 358
HAEHT 288 287 313 600| T/ HT 1,564 1,492 1,536 3, 028 T KJHMT 471 508 528 1, 036|FEARMT T2 852 902 982 1,884
FERAHT 333 287 296 583 | SLRHHT 1, 434 1, 324 1,413 2, 73715 KFEMT 316 361 359 720 FHERT )1 428 445 472 917
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FEYBIT 206 221 198 419|EHFHT KRR 10 10 11 21
FEYBIT 5 ] 350 412 422 834|EH T /N 369 419 416 835
FEYBHT o B 5 4 4 8| & HMT A Il 262 281 279 560
FEHRMT VG B 728 774 837 1, 611 & HHT LB 126 155 131 286
FEHRMT S 435 473 488 961| & FHT A 116 147 135 282
FEYBHT AR 2 R 247 156 143 299| & HHT/INEE 223 254 247 501
Ei PN 1,085 1,229 1,265 2,494| % HHT/M 151 174 186 360
FEHRETF L 165 183 201 384 HFHHTH A 52 59 65 124
FEHRHL X 9, 120 9,921 10,325 20, 2465 HMTHE 209 153 207 360
E AT 1] 320 347 357 704
JEFHHET 1,764 1,905 2,027 3, 932 H:M T B 102 118 116 234
JE T 581 620 698 1, 318|HFHHT FRAR 369 380 379 759
% 1 FH AT 70 86 93 179| & HEMTHR R 305 352 352 704
Aty 3,957 4,478 4,641 9, 119[FHHMT L L B 375 435 423 858
ElwE g 474 466 448 914| & HHT & 30 38 35 73
AT 1,859 2,138 2,253) 4, 391|& HHTr L 97 111 110 221
BT 204 233 243 476 | HHT 165 182 190 372
Tt 15 HT 325 347 347 694 FHT RAR 1,112 1, 244 1,284 2,528
rhR T 1,631 1, 666 1,705 3,371 EHMTEBE—TH 348 363 348 711
v ELHT 503 583 618 1, 201 & HHTFER A T H 406 388 466 854
TG[E Sy HT 255 317 313 630 HHTF A =T H 312 392 381 773
T[Sy HT 344 480 449 929| H FHTHA 36 37 40 77
Ly 628 798 838 1, 636| & HHTERIR 51 61 57 118
Ky 156 176 184 360 & HHT AR 541 658 640 1,298
T 1,443 1,446 1,545 2, 99175 HHT 52 594 663 645 1,308
R FH T 651 793 785 1, 578| & HHT R H 444 513 506 1,019
= SRHT 867 1,011 1,055 2, 066 | H-0 & I 1,249 1,239 1,291 2,530
TorE BT 3,679 4,091 4,191 8, 282|FH HMTE I 669 680 686 1, 366
TG H X 19,391 21,634 22,433 44,067 FHFHHX 10,372 11,311 11,434 22,745
iy 5,719  5,612] 5,998 11,610
IR LIRS 5,719  5,612| 5,998 11,610
R BT 411 528 531 1,059
R ELEET 1,013) 1,065/ 1,097 2,162
s T 467 484 473 957
AT 120 127 125 252
T HELRET 1,042 1,101 1,166 2,267
e HET 1,059 1,134 1,146 2,280
+ 3T 178 185 194 379
FIE T 187 219 173 392
T 730 791 817 1,608
v L LT 789 858 868 1,726
P T 840 696 806 1,502
e ignT 31 24 32 56
e Ly 37 24 38 62
AGRHET 916 1,037 1,037 2,074
=Y A-RAT 99 96 97 193
ERET 324 360 350 710
Hedn X 8,243 8,729 8,950, 17,679
T UL 628 728 699 1,427
T A7 150 161 165 326
EHMH A H 195 211 203 414
TS IR 356 358 384 742 WA F 174,387 178,940 185,686/ 364,626




